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Omission of the ¢ 3’

Necessary cases.

1. After “Y s, when the ‘3’ is from the ‘asexd) J=8¥)’, such as ‘OIS’
Example: “sa ¢ siasall Gilai ol e b Cul Y 8

2. When the “Ixiw’ word is explicitly used for swearing

Example: “oseand aei 8 il agd] CSHaal” e, ¢ and Sl

3. After the ‘5’ that signifies companionship

Example: ‘aeia¥) 5 Al i e. the student has to be with diligence

Permissible cases:
When there is an indicator:
el @ L iV Lgingd G (5583 05l 20 5 Al Aiad) e e, il Llla

Omission of both ¢/<ix’ and ¢ &’

When there is an indicator, both can be omitted, such as in short answers.
Example: “ax5 Ji-Gadlil) 525 &) 1049 W &) 1506 552 58 804501 2257 (And the
magicians came to Pharaoh. They said, ‘We shall indeed have a reward if we were

to be the victors?’- he said ‘Yes’)

Notes:

1. When the ‘1xiw’ and ¢ _»” are definite, the ‘Jwadll jea’ (distinguishing pronoun)
comes in the middle and denotes the specification of ‘)xiw’ for the _»3’ and
emphasis and to prevent confusing ‘ »3’ with something else. This pronoun
accords with the ‘1xiw’,

Example: “Llall a &) dalS 57



2. ‘¥ can come of the ‘3’ when the ‘Ixix’ is the cause of ‘=’ to happen.
Example: “aellec] i ol 4l Jaaas 31558 30 5 (As for those who were slain in the

way of Allah, He will not let their works go fruitless.)

3. When they both are definite or indefinite and therefore both can begin the
sentence. Most say ‘lxiw’ has priority then.

Example: “4i, &”

4. A ‘13w’ can have multiple ©_»3’s.
Example: <3 n Wl Jd Sl (aoall 53 353500 ) siall g 57

5. Sometimes the adjective becomes Iviw’,

Example: ‘gl 218 W,



